
11073 11073.5 11074 11074.5 11075
cyclenum

1

1.5

2

2.5

3

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

3.5−

3−

2.5−

2−

1.5−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

8294

8294.5

8295

8295.5

8296

8296.5

8297

8297.5

8298

ru
n

run:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8296}



11073 11073.5 11074 11074.5 11075
cyclenum

75−

74.5−

74−

73.5−

73−

us
l_

1X
usl_1X:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

us
l_

4a
Y

usl_4aY:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

9.6

9.8

10

10.2

10.4

10.6

10.8

11

11.2

11.4

11.6

11.8

us
l_

4e
X

usl_4eX:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

18.2

18.4

18.6

18.8

19

19.2

19.4

19.6

19.8

20

20.2

20.4

us
l_

4e
Y

usl_4eY:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

39.5−

39−

38.5−

38−

37.5−

us
l_

12
X

usl_12X:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

8294

8294.5

8295

8295.5

8296

8296.5

8297

8297.5

8298

ru
n

run:cyclenum {run == 8296}



11073 11073.5 11074 11074.5 11075
cyclenum

123−

122.5−

122−

121.5−

121−

us
r_

1X

usr_1X:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

174

174.5

175

175.5

176

us
r_

4e
X

usr_4eX:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

14

14.5

15

15.5

16

us
r_

4e
Y

usr_4eY:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

41−

40.5−

40−

39.5−

39−us
r_

12
X

usr_12X:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

8294

8294.5

8295

8295.5

8296

8296.5

8297

8297.5

8298

ru
n

run:cyclenum {run == 8296}



11073 11073.5 11074 11074.5 11075
cyclenum

16557.6

16557.8

16558

16558.2

16558.4

16558.6

16558.8

16559

16559.2

16559.4

16559.6

16559.8

us
l_

co
il1

usl_coil1:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

2389.5

2390

2390.5

2391

2391.5

us
l_

co
il3

usl_coil3:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

5578

5578.5

5579

5579.5

5580

us
l_

co
il4

usl_coil4:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

3039.5−

3039−

3038.5−

3038−

3037.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

3595

3595.2

3595.4

3595.6

3595.8

3596

3596.2

3596.4

3596.6

3596.8

3597

3597.2

us
l_

co
il7

usl_coil7:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

8294

8294.5

8295

8295.5

8296

8296.5

8297

8297.5

8298

ru
n

run:cyclenum {run == 8296}



11073 11073.5 11074 11074.5 11075
cyclenum

14971−

14970.5−

14970−

14969.5−

14969−

us
r_

co
il1

usr_coil1:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

2084.5−

2084−

2083.5−

2083−

2082.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

6091

6091.5

6092

6092.5

6093

us
r_

co
il4

usr_coil4:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

3015.5−

3015−

3014.5−

3014−

3013.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

34302

34302.5

34303

34303.5

34304

us
r_

co
il7

usr_coil7:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

8294

8294.5

8295

8295.5

8296

8296.5

8297

8297.5

8298

ru
n

run:cyclenum {run == 8296}



11073 11073.5 11074 11074.5 11075
cyclenum

134.5−

134−

133.5−

133−

132.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

10.6

10.8

11

11.2

11.4

11.6

11.8

12

12.2

12.4

12.6

12.8

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

247.2

247.4

247.6

247.8

248

248.2

248.4

248.6

248.8

249

249.2

249.4

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

234−

233.5−

233−

232.5−

232−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

25.5−

25−

24.5−

24−

23.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

252.6

252.8

253

253.2

253.4

253.6

253.8

254

254.2

254.4

254.6

254.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8296}



11073 11073.5 11074 11074.5 11075
cyclenum

292.6

292.8

293

293.2

293.4

293.6

293.8

294

294.2

294.4

294.6

294.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

108.4−

108.2−

108−

107.8−

107.6−

107.4−

107.2−

107−

106.8−

106.6−

106.4−

106.2−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

43.5−

43−

42.5−

42−

41.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

272.5

273

273.5

274

274.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

137.5−

137−

136.5−

136−

135.5−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

37−

36.5−

36−

35.5−

35−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8296}



11073 11073.5 11074 11074.5 11075
cyclenum

237.5−

237−

236.5−

236−

235.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

89.4−

89.2−

89−

88.8−

88.6−

88.4−

88.2−

88−

87.8−

87.6−

87.4−

87.2−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

2−

1.5−

1−

0.5−

0

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

6

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8

8

8.2

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

522.8−

522.6−

522.4−

522.2−

522−

521.8−

521.6−

521.4−

521.2−

521−

520.8−

520.6−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8296}

11073 11073.5 11074 11074.5 11075
cyclenum

8294

8294.5

8295

8295.5

8296

8296.5

8297

8297.5

8298

ru
n

run:cyclenum {run == 8296}
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